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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15
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11:45 294 150.0 S| 1Rige11:45 Bzh (REEESE)
12:30 294 150.0 RS Ri%e12:30 B3 (REAERESR)
13:10 294 150.0 Bl Rige13:10 Ba) (REAEHE)
13:55 294 150.0 BE| Rige13:55 BHal (REAEHE)
14:40 294 150.0 e Rige14:40 Bz (REAERSE)
15:25 294 150.0 | =| {Ri&e15:25 Bz (RBEEE)
16:40 294 150.0 (2 =| 1BRi%e16:40 Bz (kAFERSE)
249t 3822.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 6.0

FEREAERE STEAETRSE (191.0 : 147.0), AHEHATF—@AZ XFH4
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (334:63.0), set to 334 ml.
FERERIEC (2635.0) 5i&FEEC (2000.0) REK K, HHEE

¥ [E;RECE (2635. 0 vs 4622.0) 135



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=43 (2025-05-13)

150

100 A

50

(¢
200 -

150 A

100 A

50 A

1.0

V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1910 | 2000

1500 1500 470
250 313

188 Warning: lcol ["FVI',|"FVO'] missing 134
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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P3-15

BfiE) | EBIETK D) | El=E (EH/HK) | XK ERE

06:50 294 150.0 (& =| 1Ri%@06:50 Bz (kABERSE)
07:40 294 150.0 |Z=| 1Ri%e07:40 Bzh (RFMERESE)
08:30 294 150.0 [Z=| 1Ri%e08:30 Bz (RFEREE)
09:35 294 150.0 FE| 1BRi%@09:35 Bz (kBERE)
10:45 294 150.0 FA| 1BRi&@10:45 B3 (KAL)
11:45 294 150.0 FA| 1Ri%@11:45 Bzh (kAERSE)
12:35 294 150.0 FA| 1Ri%e12:35 B#i (KBAERKS)
13:25 294 150.0 FA| {Ri&e@13:25 Bzl (GkAEEE)
14:05 294 150.0 FH| 1Ri%@14:05 B3h (RAERRSE)
14:50 294 150.0 FA| {Ri&@14:50 Bz (RBERE)
15:45 294 150.0 FA| 1{Ri%e15:45 Bz (RAHERESE)
16:50 294 150.0 FH| 1Ri%@16:50 Bzh (KAERESE)
249t 3528.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (191.0 :

ZRIAEBRIERL144.0 ml.

144.0), FlEEHT—R % XA HS

large discrepency for begining water status (284:96.0), set to 284 ml.
REREEBIEC (2610.0) 5% FEEC (2000.0) REKR A, HHRE

HEEIKECE (2610.0 vs 4288.0) 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=42 (2025-05-12)
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Warning: lcol ["WC1',  "WC2'] missing
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m=435, FV0=0 m=495, FV0=0 m=535, FV0=0
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P3-15

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:10 288 150.0 A5 {Ri%e07:10 Bzl (REERER)
07:55 288 150.0 RS {Ri&e07:55 Hah (REAERSE)
08:50 288 150.0 BS| 1Ri%e08:50 Bz (RF{EEEE)
09:50 288 150.0 RS {Ri%@09:50 Bz (REERZE)
11:00 288 150.0 el Rige11:00 Ba) (REAEHSE)
12:00 288 150.0 RS {Ri&e12:00 Bz (REERS)
12:50 288 150.0 S| Ri%e12:50 B (RF{EREE)
13:40 288 150.0 el Rige13:40 Bal (REAERESE)
14:35 288 150.0 BE| Rige14:35 BHa (REAEHE)
15:25 288 150.0 RS Ri&e15:25 Bz (REAERESR)
16:20 288 150.0 el Rige16:20 Bal (REAEESE)
23+ 3168.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

MEREHERE STAREARS (187.0 : 144.0), AREHTF—RE XAH4
ZRIASERRIERE144.0 ml.

REXEEBIEC (2650.0) 5% FEEC (2000.0) RER KA, FHE
#HEKECE (2650.0 vs 4220.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=41 (2025-05-11)
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